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W16 R 5 2m 2516 2416
W17 R 5 2M 2517 2417
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W20 R 5 2M 2520 2420
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W22 R 5 2M 2522 2422
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G35 e 5 3M - 2535 2455 2435
G36 &R 5 3M - 2536 2456 2436
W37 e 5 2 - 2537 2437
W38 &R 5 2/ - 2538 2438
G39 &R 5 3M - 2539 2459 2439
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X13 ZiR BB AW 2713 2663 2763 2613
X14 ZiR BB AW 2714 2664 2764 2614
X15 ZiR BB AW 2715 2665 2765 2615
X16 ZiR BB AW 2716 2666 2766 2616
X17 ZiR BB AW 2117 2667 2767 2617
X18 ZiR BB AW 2718 2668 2768 2618
X19 ZiR BB 4 2719 2669 2769 2619
X20 ZiR BB 4 2720 2670 2770 2620
X21 Z = 4m 2721 2671 2771 2621
X22 ZiR BB 4 2122 2672 2772 2622
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AX03 %Pk B 3@ 2903 2853 2803
AX04 %Pk B 3@ 2904 2854 2804
AX05 &fk & 4@ 2905 2855 2955 2805
AX06 &fk & 4m 2906 2856 2956 2806
AX07  &fR & 4@ 2907 2857 2957 2807
AX08 &Mk & 4m 2908 2858 2958 2808
AX09 %&Bk  BA 3@ 2909 2859 2809
AX10 #&fRR & 4@ 2910 2860 2960 2810
AX11  &fRk = 4@ 2911 2861 2961 2811
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AX13 &fk = 4@ 2913 2863 2963 2813
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